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. * . c ; Park visitors will be allowed to fish one the population reaches 10,000 fish The park
stocks the lake with 550 bass, and the population grows at 13.5% each month.
Sl ik o e St ey e e Lk a2 Write an eguation that could zllow you to find out the number of months
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I flx) =8(z — 9% + 7. For mhich waives of x wil [(x) be sie? h?v hLﬁv‘l 13. Lauren has $7000 she wants to invest An account at Bank of Raleigh pays 7%
xwﬁ 9 . ’ V|| compounded quarterly. At Apex Bank, she can get an account that pays 6.5%
£ Flz) = 47 Whar are —e scrmain 3r6 rargs of f 1 (x)? (== 1Dv compounded monthly. Which bank should she use in order to have the most money
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—F .&r,mn_mqm e features of flx) and Ws inverse guen f(x) = s 7 .nl 14. Donna fell and hurt her ankle. The doctor gave her a pain reliever to help. Donna’s
h ?u = mxlw L body will break down 14% of the medicine QmQﬂV_._o:wm.
Sciue for the crirown variztie. WHMImﬂm arswers 15 the nearest hundrecth when necessary. o | ? wgh 1-.1 r—-u =
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B ; : X ¢. How much of a 800-mg dose is still in her system after 4 hours?

10. A mold formation grows by 3.5% each day. If the volume of the formation is 18,800 \FE wB h.&fv.«\&
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n.a.wﬁﬁ\ ?hmrﬁwn.\mﬂnm cwmmwaﬁaar B 43| 4 51 v d. How many 4-hour periods will go by in 32 hours? M 3254 =%
/* .“pv — i " ﬁm O | mv—. e. How much of a 800-mg dose is still in Katie's system after 32 hours?
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\ — M 15. Which of 2.6 following shows two graphs that are not inverses of one another? Matching
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1] b. \ I Match each function on the left with its inverse on the right. Assume that all functions are

Ji) contjguous.
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